HISTORY OF THE WORLD (1500-1950) - I

Time Allowed : Three Hours M
Note : Attempt one quesl!on each from Section A, B, C and D carry anjitn Marks ; 100

is com ulsory consisting of 10 short answer type questions 3 % ]5 mlar!_\l_sheach Sechotn .
carrying 3 marks each. The map question
camesplO marks for filling the map and 4 mat{s for cxp anatorr;[,ryn Ll" Pd

Section :
Critically discuss the main causes of the onﬁm ofReformatmn
Analyse'the various reforms introduced by apoleon in France,

Secction
Discuss the main aims and principles of the Congress of Vienna:Also examine its working.
Discuss the role of Bismarck in the umijs cat{on 0 Gennany
ection :
Analyse the effect of the Industrial Revoution.
Dlscuss the factors responsible for the nse of Naxlm in Germany.

0N oW AW -

mine the causes leading to the Flrst Worl War.
gl;;%ﬁg'lsht(lfexgte];s taken by Kamal Pgashs t% Pmdenﬁlse Turkey.
Section :

art-
tions 30-40 words each :
(A) gnswcﬁégglggilll#ggmg questions In b) Martin Luther.
c) Fallof Bastille. d) Cavour.
e Treatylgf Paris, 1856 {»Jd%}t%mxch. |
5 %llgnﬁntlang . ')l I;rl'ol:ilefn of Palestine. 10x3=30
art - ,
(B) Onan outline map of Europe show its political condition in 1789 A.D. Also add an explanatorﬁ
note.
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Part-1
(A) fs»ma%at[ﬂaéawomm@aa%:
(a) USSvarast |

(c) I 1 (3) Tl
ille U6 11): C .
(g) g?afgé Ht, 189? ) Ef)) Mae\;?;r‘;lich.
(g) TEEH (h) . 5. 6. |
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(B) WY 2 =am €3 1789 &t T areifsa via) fow€ | fea fenrfimmava 3 & fad |

10x3=30
6+4=10
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